

2 unitatea. Eragiketak zenbaki arruntekin

3. ariketa. Eragiketak zenbaki arruntekin: Banatze-propietatea

$$6 \times (2 + 41) = \square \bigcirc \square \bigcirc \square \bigcirc \square = \square \bigcirc \square = \square$$

$$2 \times (32 - 7) = \square \bigcirc \square \bigcirc \square \bigcirc \square = \square \bigcirc \square = \square$$

$$(30 - 2) \times 5 = \square \bigcirc \square \bigcirc \square \bigcirc \square = \square \bigcirc \square = \square$$

$$(6 + 32) \times 3 = \square \bigcirc \square \bigcirc \square \bigcirc \square = \square \bigcirc \square = \square$$

$$4 \times (6 + 43) = \square \bigcirc \square \bigcirc \square \bigcirc \square = \square \bigcirc \square = \square$$

$$3 \times (35 - 1) = \square \bigcirc \square \bigcirc \square \bigcirc \square = \square \bigcirc \square = \square$$

$$(40 - 1) \times 4 = \square \bigcirc \square \bigcirc \square \bigcirc \square = \square \bigcirc \square = \square$$

$$(3 + 20) \times 4 = \square \bigcirc \square \bigcirc \square \bigcirc \square = \square \bigcirc \square = \square$$

$$8 \times (5 + 21) = \square \bigcirc \square \bigcirc \square \bigcirc \square = \square \bigcirc \square = \square$$

$$9 \times (24 - 1) = \square \bigcirc \square \bigcirc \square \bigcirc \square = \square \bigcirc \square = \square$$

$$(43 - 4) \times 1 = \square \bigcirc \square \bigcirc \square \bigcirc \square = \square \bigcirc \square = \square$$

$$(6 + 46) \times 8 = \square \bigcirc \square \bigcirc \square \bigcirc \square = \square \bigcirc \square = \square$$

$$1 \times (3 + 37) = \square \bigcirc \square \bigcirc \square \bigcirc \square = \square \bigcirc \square = \square$$

$$1 \times (25 - 2) = \square \bigcirc \square \bigcirc \square \bigcirc \square = \square \bigcirc \square = \square$$

$$(15 - 7) \times 5 = \square \bigcirc \square \bigcirc \square \bigcirc \square = \square \bigcirc \square = \square$$

$$(8 + 11) \times 1 = \square \bigcirc \square \bigcirc \square \bigcirc \square = \square \bigcirc \square = \square$$

$$9 \times (8 + 15) = \square \bigcirc \square \bigcirc \square \bigcirc \square = \square \bigcirc \square = \square$$

$$3 \times (23 - 9) = \square \bigcirc \square \bigcirc \square \bigcirc \square = \square \bigcirc \square = \square$$

$$(44 - 8) \times 1 = \square \bigcirc \square \bigcirc \square \bigcirc \square = \square \bigcirc \square = \square$$

$$(3 + 50) \times 6 = \square \bigcirc \square \bigcirc \square \bigcirc \square = \square \bigcirc \square = \square$$

$$6 \times (1 + 30) = \square \bigcirc \square \bigcirc \square \bigcirc \square = \square \bigcirc \square = \square$$

$$7 \times (13 - 4) = \square \bigcirc \square \bigcirc \square \bigcirc \square = \square \bigcirc \square = \square$$

$$(22 - 2) \times 4 = \square \bigcirc \square \bigcirc \square \bigcirc \square = \square \bigcirc \square = \square$$

$$(9 + 36) \times 3 = \square \bigcirc \square \bigcirc \square \bigcirc \square = \square \bigcirc \square = \square$$